Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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(08 Marks)
2 a
x+y<I18
Xty=> 4, \
where X, y = On (12 Marks)
b. Deﬁn&' ?1) Fea51ble solutli;nw) unbounded solutﬁfon iii) Fesible region iv) Optimal solution.
) & -;1. (04 Marks)
;’:‘“ ‘ ;%’ & :«f Modufe-Z
3 a. " Find all the ba510§ﬂut10ns of the following problem :

Maximize Z=x{+ 3x + 3%; ,,,4;{‘“\; i
Subject to»eﬁnsfi'amts X1+ 2x tBX3 =
E§ 2x;+ 3% $5x3= 7
Also find which of the basarcmsolutlon are :
1) basic feasible ii) non~degenerate basic feasible iii) optimal basic feasible. (06 Marks)
b. Solve the following LPR.by Big-M method.
Maximize Z = -2X; —%>
Subject to constr,a“]ng,s 3x; +x2=3
T4x+ 326
‘ V e X+ 2% <4
- ¢ where X1, X2 > 0. (10 Marks)
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Maximize =3x; + 2x;
Subject to constrains x; + x; < 4
X1 —X < 4
and x;, X > 0.

OR
a. Solve the following LPP by simplex method.

b.  Solve the following LPP by two-phase simplex metfhod

Maximize z = 3x; — x»
Subject to constraints 2x; + x, > 2
X +3x% <2
X < 4
and X1, Xp > 0

a. Write applications of dual smpiex rnethod

b. Solve by dual simplex method ﬁh
Maximize z = 2x; + 2x; + 4x3
Subject to constralnts 2

a. Construct e dual of the problem :
i) mmu:mze Z 3x]

k.
=

2x; +4x3

7X1 2){3

and \‘5@1 X, X3 > 0
ii) maximize z = 3x1 € 5%,

subject to comfa'mnts 2x; + 6% < 5@ e
A4 3% + 2% <@345"§' 3

'r’.‘ 7

6x; + Xz*”é'3x3>2
X3<10
X %219+SX3>3

& . SXI 3 x2 <‘?1Q
-~ ‘ﬂg;s where x; 1, *xg;,_ﬁ

b. Whaf’@arse the advantage @f“&y

ality property?

Modsite:
““Eind the initial basnd'_ﬁeﬁsible solution bylus }g North—West corner rule.
‘ N Di D; D; D Supply
N Oyl 15373 34
N O M3[3[1[2] 15
s )4 o0 [0[2[2]3] 12
O, [2]7]2]4] 19
‘%Bémand 21 25 17 17 80
b. Find the initial basic fe‘a&bfé solution using Vogel’s approximation method.
; Wi Wy Wi W, Availability
F; 19 130 | 50| 10 7
F, 70 | 30 | 40 | 60 9
Fs 40 | 8 | 70| 20 18
Requirement 5 8 7 14

20f3
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OR

8 a. Solve by matrix minima method and obtain an optimal solution,for the following problem:
Available

50 30 220 <

From 90 45 17 f“‘k:x 3

250 200 ‘“\k 4

Required 4 2 2,"

J (10 Marks)

b. Solve the following assignment problem: %
I3 b L A
P10 9 | 7 C Y
15[ 4 |14 8 P
w313 [ 14 [ 16 | 11 | . °
T3 (15[ 13 3 1N~
) (06 Marks)
9 a (06 Marks)
b.
Player B
B, B; Bs
0
4
Playe{ A 0
£ 8
. (10 Marks)
o OR &% Cy
10 2. Solve the following gag;e\%r graphical meﬂa@d’* - o (06 Marks)
. % Player B«
e \:}‘?ﬂ I I ,ﬁf@*" \%
A (=
~%"  Player A %% 2 | -1 i%rz 6
@ % 2| 4| -3 0
b. Write short notes on : i~y f}im
i) Ge& algorithm o ‘%&#g { +*
ii) 'Lf"btfﬁearch algorlthr% - (10 Marks)

Cv;1 _ ;_1 BA ’\’
BA ALOF \1 = ‘)rb 037




